=0 (()) = ‘?’fi\@ <) Berdkna procentsatser i decimaler
namn: Datum: Poding:
8, 88 x 70% = 1,8 x10% =

9,68 x 10% = 1,86 x90% =

8,35 x30% = 7,84 x90% =

2,86 x 60% = 0,57 x30% =

I, 14 x 80% = 9,99 x 40% =

6, 84 x 20% = 6 %< 90% =

7,58 x 30% = 0, 61 x 70% =

8,91 x60% = 8,88 x 10% =

9,96 x 50% = 1,16 x20% =

4,61 x90% = 5,94 x 60% =
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Berékna procentsatser i decimaler

namn: Datum: Poéng:

8, 88 x 70% = 6.216

9,68 x 10% = 0.968

8,35 x30% = 2.505

2,86 x60% =1.716

1, 14 x80% = 0912

6, 84 x 20% = 1.368

7,58 x30% = 2.274

8,91 x 60% = 5.346

9,96 x 50% = 4.98

4,61 x90% = 4.149

1,8 % 10% = 0.18

1,86 x90% = 1.674

7,84 x90% = 7.056

0,57 x30% = 0.171

9,99 x 40% = 3.996

6 x90% = 5.4

0,61 x70% = 0.427

8, 88 x 10% = 0.888

1,16 x20% = 0.232

5,94 x 60% = 3.564
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